3RPLHV]F]HQLH S5RINiDG

/DVIRB

7\J

7N 7N
o -CI\NDQJ UZ % H -C]\NDQJ UZ % H
™ IHDUQIQJ P.JU IHDUQLQJ PJU
ODUFLQNRZVND $QQD = ODUFIQNRZVND $QQD =
6-2 )/ 6-23(" /
$1* $1*
7N 7N
£ -CI\NDQJ UZ % H -CI\WDQJ UZ % PJ
2 IHDUQLQJ PJU U ODUFIQNRZVND $QQD =
= ODUFIQNRZVND $QQD = 6-23,(/ $1*
N 6-236:
(17(57$,10(17 %
$1*
7N 7N 7N
o ) ) 87:- =
< -CI\NDQJ UZ % H -C]\NDQJ UZ % H
2 IHDUQLQJ PJU IHDUQLQJ PJU
ODUFLQNRZVND $QQD = ODUFIQNRZVND $QQD =
6-2 ./ $1* 6-2 ./ $1*
7N 7N
Lo . N
3 -CI\WDQJ iZ % PJ -CI\WDQJ iZ % PJ
U ODUFIQNRZVND $QQD = U ODUFIQNRZVND $QQD =
6-2 ./ $1* 6-2 ./ $1*
=
)
7\6] 7N
-CIWDQI 0Z % P _
JU'SRVIEVND . RNRI $JDID -CIWDQI 0z % P
B 6-2$"06 JU'SRVIEVND . RNRI $JDID
$1* B 6-2%$"06
a $1*
= _ 7\6] DICFLD JDSIDQRZDQH QD
w -CIWDQI UZ % PJ PDID JRVIDQq
& U SRVIEVND - RNRI $JDID UHDIIRZDQH Z GQLX
B 6-2 .5 PDID JRG]
$1*
DICFLD JDSIDQRZDQH QD
PDID JRVIDQa
JUHDIJRZDQH Z GQIX
FIHIZFD
=) NI
(=)
L
= -CIWDQI iZ % PJ
Q U SRVIEVND . RNRI $JDID
2 B 6-2.5

$1*




